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Abstract: ACDC use case: control range and proportionality. For the sake of completeness of TR.
Introduction
"Control range and proportionality" is identified as one of key issues for consideration in Annex A. To conclude the relevant discussion, a use case is here proposed.
Proposal
To add a new use case as follows:

A.B
Use Case X – control range and proportionality
A.B.1
Description

When recovering from an incident and dealing with pent-up demand, it would make sense for an operator to have a range of controls from open access to blocking of access.
A.B.2
Pre-conditions

Alice is a student who stays at the university.
Bob is a student who stays at the university. Bob's UE is with ACDC capability set with DMB in the disaster category.
A disaster occurs in the university area.

A.B.3
Service flows
The disaster and the first traffic spike trigger people in charge of operation to take action. To soothe the situation, they invoke ACDC together with other relevant access barring mechanisms at higher barring rates; even applications that are supposed to be allowed on ACDC, e.g. DMB, are not necessarily allowed.
Alice finds one of her colleagues severely injured and makes an emergency call to PSAP. It's connected.

Bob tries to inform his parents by uploading his status via DMB, but in vain.

People in charge of operation, observing the traffic is getting lower, raise the rate for getting such applications, e.g. DMB, through.
Bob tries again to inform his parents by uploading his status via DMB, and the UE initiates DMB as usual.
A.B.4
Post-conditions
Alice successfully makes an emergency call even in the tensest situation.
Bob successfully contacts his families via DMB to indicate his safety, although he needs to wait slightly.
A.B.5
Potential requirements

The requirement derived from this use case is:
-
The system shall be able to apply ACDC with a likelihood of allowance that is chosen from open access to blocking of access.
